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0 0 0000

1 1 0001

2 2 0010

3 3 0011

4 4 0100

) ) 0101

6 6 0110

7 7 0111

8 8 1000

9 9 1001

10 A 1010

11 B 1011

12 C 1100

13 D 1101

14 E 1110

15 F 1111

o To convert from binary to hex, partition the binary number into groups
of 4 bits each. (Start grouping from the LSB end.) Add leading zeros
to the left most group if necessary to make it 4 bits. Note that adding
leading zeros does not affect the magnitude of the number.

For example, consider the binary number 10011101001.

10011101001 — 0100 1110 1001

Notice a leading zero added to left most group to make it a 4-bit binary
number.

Then going to the table,
0100 — 4, 1110 —» E, 1001 — 9
Hence, 10011101001 (base 2) equals 4E9 (base 16).

e To convert from hex to binary, simply replace each hex character with
its 4-bit binary equivalent.

For example, A32C = 1010 0011 0010 1100.




